
STEERING & SUSPENSION PARTS

JAPANESE VEHICLES
KOREAN VEHICLES
AMERICAN AND EUROPEAN VEHICLES

NEW ITEM LIST
(JULY 2015)

NEO CTR CO., LTD.



BALL JOINT

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CBT-55R 43330-39815 ◈ LOWER R TACOMA 4WD VZN195, RZN19# 01- 10PCS
43330-39556 VZN170, VZN171, RZN160, RZN161 95-98
43330-39366
43330-39367

CBT-55L 43340-39585 ◈ LOWER L TACOMA 4WD VZN195, RZN19# 01- 10PCS
43340-39436 VZN170, VZN171, RZN160, RZN161 95-98
43340-39286
43340-39287

CBT-92 LOWER R/L CRESSIDA FOR 48068-29095/48069-29095 85-88 30PCS

CONTROL ARM

NISSAN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQN-15R E4524-2S686 LOWER R PICK UP VI D22 98-07 4PCS

CQN-15L E4525-2S686 LOWER L PICK UP VI D22 98-07 4PCS

NEW ITEMS

CQN 15L E4525 2S686 LOWER L PICK UP VI D22 98 07 4PCS

MAZDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQMZ-10R GA6B-34-300E LOWER R MAZDA 626 92-97 4PCS
MX-6 92-97

CQMZ-10L GA6B-34-350E LOWER L MAZDA 626 92-97 4PCS
MX-6 92-97

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQHO-43R 51350-T0A-A02 LOWER R CR-V 12- 4PCS

CQHO-43L 51360-T0A-A02 LOWER L CR-V 12- 4PCS

HYUNDAI
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQKH-52R 54501-3K000 ◈ FRONT LOWER-R NF SONATA (CONNERCTOR : ALUMINIUM) 04-13 4PCS
54501-3K060

CQKH-52L 54500-3K000 ◈ FRONT LOWER-L NF SONATA (CONNERCTOR : ALUMINIUM) 04-13 4PCS
54500-3K060



CONTROL ARM

VOLKSWAGEN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEAR MOQ

CQVW-1R 1K0 407 152 AC LOWER R AUDI A3 SPORTBACK II 8PA 04-13 4PCS
1K0 407 152 AUDI A3 CONVERTIBLE II 8P7 08-13
1K0 407 152 AL AUDI A3 HATCHBACK II 8P1 03-12
1K0 407 152 M SEAT ALTEA 5P1 04-
1K0 407 152 R SEAT ALTEA XL 5P5, 5P8 06-
1K0 407 152 T SKODA OCTAVIA II 1Z3 04-

SKODA OCTAVIA WAGON1Z5 04-
SKODA SUPERB II 3T 08-
SKODA SUPERB WAGON 3T5 09-
SVW TOURAN VAN 04-08
SVW SKODA OCTAVIA 1Z3 04-10
VW CADDY WAGON III 2KB, 2KJ 04-10
VW CADDY VAN III 2KA, 2KH 04-
VW EOS 1F7, 1F8 06-
VW GOLF PLUS V 5M1 05-08
VW GOLF PLUS VI 521 09-
VW GOLF V 1K1 03-08
VW GOLF VI 5K1 08-12
VW GOLF VARIANT V 1K5 07-09
VW GOLF VARIANT VI AJ5 09-13
VW GOLF CONVERTIBLE 517 13-
VW JETTA V 1K2 05-10
VW SCIROCCO III 137 08-
TOURAN 1T1, 1T2 03-10

CQVW-1L 1K0 407 151 AC LOWER L AUDI A3 SPORTBACK II 8PA 04-13 4PCS
1K0 407 151 AUDI A3 CONVERTIBLE II 8P7 08-13
1K0 407 151 AL AUDI A3 HATCHBACK II 8P1 03-12
1K0 407 151 M SEAT ALTEA 5P1 04-
1K0 407 151 R SEAT ALTEA XL 5P5, 5P8 06-
1K0 407 151 T SKODA OCTAVIA II 1Z3 04-

SKODA OCTAVIA WAGON1Z5 04-
SKODA SUPERB II 3T 08-
SKODA SUPERB WAGON 3T5 09-
SVW TOURAN VAN 04-08
SVW SKODA OCTAVIA 1Z3 04-10
VW CADDY WAGON III 2KB, 2KJ 04-10
VW CADDY VAN III 2KA, 2KH 04-
VW EOS 1F7, 1F8 06-
VW GOLF PLUS V 5M1 05-08
VW GOLF PLUS VI 521 09-
VW GOLF V 1K1 03-08
VW GOLF VI 5K1 08-12
VW GOLF VARIANT V 1K5 07-09
VW GOLF VARIANT VI AJ5 09-13
VW GOLF CONVERTIBLE 517 13-
VW JETTA V 1K2 05-10
VW SCIROCCO III 137 08-
TOURAN 1T1, 1T2 03-10



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CET-203R 45047-49055 OUTER R AVENSIS VERSO ACM/CLM20 01-07 30PCS
M16 X 1.5 (40/2PCS)

CET-203L 45046-49125 OUTER L AVENSIS VERSO ACM/CLM20 01-07 30PCS
M16 X 1.5 (40/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEN-148R D8520-1JA0B OUTER R QUEST 11- 10PCS
M16 X 1.5 (20/2PCS)

CEN-148L D8640-1JA0B OUTER L QUEST 11- 10PCS
M16 X 1.5 (20/2PCS)

CEN-149R D8520-1CA0B OUTER R INFINITI FX35/50 09-11 12PCS
M14 X 1.5 (24/2PCS)

CEN-149L D8640-1CA0B OUTER L INFINITI FX35/50 09-11 12PCS
M14 X 1.5 (24/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEHO-60 53540-S3A-003 OUTER R/L VAMOS 99- 50PCS
M14 X 1.5 (70/2PCS)

HONDA

TOYOTA

TIE ROD END

NISSAN

VOLKSWAGEN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CEVW-3R 6R0 423 812 R SEAT IBIZA/ST 06-15 36PCS
5Z0 423 812 M14 X 1.5 SEAT TOLEDO 13-15 (50/2PCS)
6Q0 423 812 SKODA FABIA 05-15
6Q0 423 812 A SKODA RAPID 13-15
6Q0 423 812 C SKODA ROOMSTER 11-15
6Q0 423 812 D VW FOX-AFRICA 04-10

VW FOX-EU 05-12
VW POLO CLASSIC 08-19
VW POLO/DERBY/ 02-15
VENTO-IND

CEVW-3L 6R0 423 811 L SEAT IBIZA/ST 06-15 36PCS
5Z0 423 811 M14 X 1.5 SEAT TOLEDO 13-15 (50/2PCS)
6N0 422 811 SKODA FABIA 05-15
6Q0 423 811 SKODA RAPID 13-15
6Q0 423 811 A SKODA ROOMSTER 11-15
6Q0 423 811 C VW FOX-AFRICA 04-10
6Q0 423 811 D VW FOX-EU 05-12

VW POLO CLASSIC 08-19
VW POLO/DERBY/ 02-15
VENTO-IND

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CTKD-1 94580400 DAMAS 91- 10PCS
LABO 91-

TIE ROD END ASSY

GM KOREA



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-68R 54618-1CA3B REAR R INFINITI FX35/FX37/FX50 09-13 25PCS
M12 X 1.25 INFINITI QX70 14-15 (50/2PCS)

CLN-68L 54668-1CA3B REAR L INFINITI FX35/FX37/FX50 09-13 25PCS
M12 X 1.25 INFINITI QX70 14-15 (50/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLM-15 MR267877 FRONT R PAJERO V24W,V21W,V23C,V23W,V24C,V25C, 92-00 25PCS
M12 X 1.25 MONTERO V25W,V26C,V26WG,V43W,V45W,V46V,  (50/2PCS)

V46W,V46WG
CLM-16 MR267876 FRONT L PAJERO V24W,V21W,V23C,V23W,V24C,V25C, 92-00 25PCS

M12 X 1.25 MONTERO V25W,V26C,V26WG,V43W,V45W,V46V,  (50/2PCS)
V46W,V46WG

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLMZ-38 LC70-34-170 FRONT R/L MPV 02-06 10PCS
M10 X 1.25 (20/2PCS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLHO-87R 52320-S5T-J01 REAR R CIVIC EP3 01-06 40PCS
M10 X 1.25 CIVIC HATCHBACK 02-05 (80/2PCS)

CLHO-87L 52321-S5T-J01 REAR L CIVIC EP3 01-06 40PCS
M10 X 1.25 CIVIC HATCHBACK 02-05 (80/2PCS)

MITSUBISHI

NISSAN

STABILIZER LINK

MAZDA

HONDA

0 5 C C C C 0 05 (80/ CS)

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLG-32 20784687 FRONT HHR 03-11 10PCS
M12 X 1.75 (20/2PCS)

GM



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRT-115 45503-19265 R/L COROLLA/FIELDER CE121, NZE12#, ZZE12# 00-06 20PCS
M14 X 1.5 COROLLA RUNX/ALLEX NZE12#, ZZE12# 01-06
M14 X 1.5 COROLLA SPACIO NZE121, ZZE12# 01-07

WILL VS NZE127, ZZE12# 01-04
WISH ANE1#, ZNE1# 03-09
PREMIO/ALLION AZT240, NZT240, ZZT24# 01-07

CRT-116 45503-29836 R/L HIACE/REGIUSACE KDH2##, TRH2## 04-13 20PCS
M14 X 1.5 HIACE KDH2##, LH2##, TRH2## 05-14
M15 X 1.5

CRT-117 45503-29775 R/L ESTIMA T/L ACR30/40, MCR30/40 99-06 32PCS
M14 X 1.5
M15 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRN-67 48521-70A16 R/L 180SX RS13 89-98 20PCS
M16 X 1.0 200SX S13 88-93
M12 X 1.25 240SX S13 88-93

SILVIA S13 88-93

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRSU-17 34160-SC020 R/L FORESTER 14- 20PCS
M16 X 1.5 XV CROSSTREK 13-14
M14 X 1.5

CRSU-18 34160-FJ000 R/L IMPREZA 12- 20PCS
M16 X 1.5 
M14 X 1.5

TOYOTA

RACK END

NISSAN

SUBARU

MAZDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRMZ-59R LB82-32-240 R MPV (2WD) 96-98 36PCS
M18 X 1.5
M14 X 1.5

CRMZ-59L LB82-32-250 L MPV (2WD) 96-98 36PCS
M18 X 1.5
M14 X 1.5

CRMZ-60 GE4T-32-240 R/L MAZDA 626 97-02 20PCS
M18 X 1.5 MAZDA 626 WAGON 97-02
M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-66 53010-S8R-013 R/L VAMOS 99- 20PCS
M16 X 1.0
M14 X 1.5

CRHO-67 53010-TP6-A01 R/L ACCORD CROSSTOUR 10-15 36PCS
M20 X 1.5
M14 X 1.5

CRHO-68 53010-TX4-A01 R/L ACURA RDX 13-15 20PCS
M16 X 1.0
M14 X 1.5

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRVW-1 8Z0 423 803 G R/L AUDI A1 8X1 10- 20PCS
M14 X 1.5 AUDI A2 8Z0 00-05
M14 X 1.5 SEAT IBIZA SPORTCOUPE6J1 08-

SEAT IBIZA ST V 6J8 10-
SEAT IBIZA V 6J5 08-
VW POLO HATCHBACK 6R1 09-

HONDA

VOLKSWAGEN



CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRF-8 9S4Z-3280-A M14 x 1.5 FOCUS 08-11 20PCS
M14 x 1.5 (FIXED RATIO STEERING)

CRF-9 9S4Z-3280-B M14 x 1.5 FOCUS 08-11 20PCS
M14 x 1.5 (EXC. FIXED RATIO STEERING)

CRF-10 1510270◈ M14 x 1.5 FOCUS SEDAN III BM_ 11- 20PCS
1714484 M16 x 1.5 FOCUS WAGON III BL_ 11-
1251937 FOCUS HATCHBACK III BK_ 11-
1780104 FUCUS C-MAX 03-07
3M51-3L519-AB C-MAX DE_ 07-10
3M51-3L519-AA C-MAX II BH_ 10-
31201817 GRAND C-MAX BH_ 10-
274502 KUGA DR_ 08-12
30776283 KUGA II MA_ 13-

TOURNEO CONNECT II 13-
TRANSIT CONNECT KOMBI 13-
VOLVO C30 MK 06-12
VOLVO C70 CONVERTIBLMC 06-
VOLVO S40 II MS 04-12
VOLVO V50 MW 04-12
VOLVO HATCHBACK MV 12-

CRF-11 1085520 R/L FOCUS SALOON DFW_ 99-05 20PCS
4363162 M14 x 1.5 FOCUS WAGON DNW_ 99-04
3707333 M14 x 2.0 FOCUS HATCHBACK DAW_, DBW_ 98-04

TOURNEO CONNECT 02- 02-
TRANSIT CONNECT P65_, P70_, P80_ 02-

FORD

RACK END



* ADDITIONAL APPLICATION IS THE NEW OEM NUMBERS WHICH CAN BE COMMON USED WITH CURRENT CTR PRODUCTS

WITH GOOD PERFORMANCES.

THE OEM NUMBERS AND OTHER APPLICATIONS WITH MARK ☆ ARE NEW APPLICATIONS AND WERE NOT INCLUDED

IN LAST VERSIONS OF CTR PARTS CATALOGUES, AND THOSE ARE NEWLY ADDED INTO CTR APPLICATIONS.

BALL JOINT

HOLDEN
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CBHO-13 51220-SD4-023 ◈ LOWER R/L LEGEND, ACURA KA1,KA2,KA3,KA4 85-91 50PCS
51220-SD4-013 ARCADIA
51220-SD4-004
51220-SS0-010 PRELUDE BA8 91-96
51220-SS0-901   
51220-SL5-003 KA7, KA8 91-96
51220-SW5-J60 INSPIRE UA1 95-98
51220-SL5-013 PRELUDE BB6 99-01

TIE ROD END

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CET-123 45460-29435 ◈ OUTER R/L HIGHLANDER 01- 25PCS
45460-09060 M15 X 1.5 KLUGER ACU2#, MCU2# 03- (34/2PCS)
45460-49075 HARRIER MCU3#,ACU3#,GSU3# 03-06
45460-29435  ACU3#,GSU3# 06-

LEXUS RX330 04-
LEXUS RX350 08-
LEXUS RX400H 08-
HIGHLANDER HV MHU2# 05-08

SUBARU
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CESU-6 34141-AA041 ◈ OUTER R/L IMPREZA  4WD 93- 36PCS
(CESU-7) 34141-AC010 FEMALE RHT LEGACY Ⅱ, Ⅲ BRIGHTON,GT,LIMITED,POSTAL,L 94-09 (50/2PCS)
(CESU-8) 34141-AA042 M14 X 1.5 FORESTER 98-

34141-AC0109E BAJA TURBO,SPORT 03-
34161-SA001 B9 TRIBECA 06-

FORESTER 14-
LEGACY 10-14
IMPREZA WRX 08-14
IMPREZA SEDAN, WAGON 12-14
OUTBACK 10-14
XV CROSSTREK 13-14

RACK END

TOYOTA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRN-21 48521-0W025 R/L TERRANO R50 95-02 20PCS
48521-0W026 M20 X 1.5 PATHFINDER 96-04

M14 X 1.5 INFINITI QX4 97-03
CRN-39 48521-EA000 R/L PATHFINDER SE,LE,XE 05-12 40PCS

48521-EA01J M20 X 1.0 FRONTIER SE,LE,XE, D40 05-
M16 X 1.5 XTERRA 05-

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CRHO-14 53010-SS0-000 ◈ R/L PRELUDE 92-01 54PCS
53010-SW5-000 M14 X 1.25 ACURA 2.5TL/3.2TL 95-98
53010-SW5-003 M14 X 1.5

ADDITIONAL APPLICATION



STABILIZER LINK

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-63R 54618-3JA0A ◈ FRONT R MAXIMA 09- 10PCS
54618-9N00A M12 X 1.25 (20/2PCS)
54618-3JA0C

CLN-63L 54668-3JA0A ◈ FRONT L MAXIMA 09- 10PCS
54668-9N00A M12 X 1.25 (20/2PCS)
54668-3JA0C



* INFORMATION WAS CHANGED AS FOLLOWS

 

BALL JOINT

HONDA
CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-10 54618-8J000 ◈ FRONT L ALTIMA 02-06 10PCS
54618-CN011 M12 X 1.25 TEANA 06- (20/2PCS)

MAXIMA 04-08
CLN-11 54668-8J000 ◈ FRONT R ALTIMA 02-06 10PCS

54668-CN011 M12 X 1.25 TEANA 06- (20/2PCS)
MAXIMA 04-08

CTR NO OEM NO CONTENTS CAR NAME MODEL YEARS MOQ

CLN-10 54618-8J000 ◈ FRONT R ALTIMA 02-06 10PCS
54618-CN011 M12 X 1.25 TEANA 06- (20/2PCS)

MAXIMA 04-08
CLN-11 54668-8J000 ◈ FRONT L ALTIMA 02-06 10PCS

54668-CN011 M12 X 1.25 TEANA 06- (20/2PCS)
MAXIMA 04-08

 CORRECTION NOTE
INFORMATION


